ANSWERS:         GR 11 FINANCIAL MATHS
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A =10000(1 +0.0432/4)%
=19050,83

o= (1+0,0432/4)¢ =1
0,0439 = 4,39%
A=10000(1 +0,0439/4)*
=19 249,74

No, the effective annual rate gives a higher final value.
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8.1 3%of1650Kkg = 49,5 kg per day
A=P(1~in)

=1650(1-0,03n)

=1650 - 49,51

=3333
They will be able to give seeds to poor communities for 33 days.
82 A=P@-in)
+132=1650(1 ~ 0,08n)
+132= 1650 ~ 1320

- 132 = 1518

=11,50

- They will have 132 kg maize seed after 11,5 days.
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83 A=P(

n)

#0=1650(1~1.75)
0=1650 - 123 7500

123750 = 1650

,0133 = 1,33%





image7.png
+ They must give out 1,33% per day in order for the maize seed to last 75

days.
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9.1

9.2

A=Pa-ir

=2605252(1 - 0,125)
~1023071,79
650 000 = 2605 252(1 ~ )¢

0,249496018 = (1 - i}t

247/0,24949601

0,2932 = 29,32%
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10 A

(-1

21260 = P(1-0,15)¢ = 0,52200625P

=P=2413,76

oo

111 A=PG-i)F
5 A=1250000(1 = 0,17)5

- 492380,08

1112 A =1250000(1 +0,0602)" = 1674 360,66
1113 R1674360,66 - 492 380,08 = R1 181 980,58
A =75000(1 +0,12/12) = 95 230,10

No they won’t. They will still need

Ri1181 980,58 ~ 95 230,10 = R1 086 750,48
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12 First, let's see what the computers will cost in 2,5 years:

A = 45000(1 + 0,0726)* = 53 617,55
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Now, let’s see what the investment will be worth in 2,5 years:

A =8000(1 +0,15/52)" = 11 633,65

No, they won't have enough money to replace the computers. They will still

need RS3 617,55 — 11 633,65 = R4 198,39
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11 This investment yields R171 000,27
12 Thisinvestment yields Ri62 501,29

+ Investment A yields the most after 7 years.

A=999 822,11 =10;i = 3,2%
999 822 = P(1 + 0,032/12)

999 822 = P(1,376541357)

= R726 329,07

A =4Pim=4

A=PQ+ifgye
4P =Pl + /)

(1+i/4)6
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VG =144

Vg —1=il4

= (%V4)/4 = 0,0226 = 2,26%

Let’s work backwards to get the initial investment amount.
3111052 = P(1 + 0,075/365) %

£3111052 = 1,600367683P

+P=R1840 458,75

R1840 458,75 + R19 201,85 = R1 859 660,60

1859 660,60 = P(1 + 0,12/12)

41850 660,60 = P(1,269734649)

P =R1464 605,70

R1 464 605,70
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We'll have to work our way backwards again.
5825156 = P(1 + 0,124/12)'%

5825156 = P(4,971533121)
+P=Ri171702,14

1171702,14 = P(1 + 0,09/1)¢

% 1171702,14 = P(1,677100111)

« P =R698 647,70

- Larisse’s initial investment was R698 647,70.

47 540,04 =39 015,43(1 + i/4)*
£1,218493209 = (1 + i/4)*
+2V1,218493209 = 1+ /4

*1,016604268 =1 + i/4





